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Seclion A

Onae or two of your thres chosen guestions must be from this section.

1 Rising park prices have fed 1o a decrease in the number of farmers raising ducks and
gease. Consequently, the price of feather shuttlecocks in China has increased by 40%.
Feather shuttlecacks are typically made from 16 overtapping feathers, usually sourced

from geese or ducks.
{s) Explain what might cause price elasticity of demand and cross elasticity of demand
to vary for different products. (10}

{b) Discuss how rising pork prices could affect consumer expenditura on- feather
shuttlecocks and its related goods. [15)

2 In the early 2020s, the gym industry became more competitive, with new gyms cfferin
advanced facilities and diverse classes. However, a surge in COVID-18 mﬁ?m mg
peopie to stay home out of fear, while gym-goers had to observe sale distancing

measurss at the gym.
(a) Explain why some firms in the gym industry may decide to remain in the m
whife others might choose o shut down due fo Cavdy. id-19. nin the ma?;g;

{b) Discuss the potential effects that consumers are likely to experience due to the Infiux
of competition, I 5'1

3 Nordic nations such as Denmark, Finland, Norway and Sweden offer access {o higher
aducation for free. Singapore choosss to lower the cosls of Migher education through

subsidies.

{a) Explain two reasons why govemments gel involved in the sducation sector t0
achieve the objactive of economic efficiency. (10}

(b) Amzimmmhsiwywwmwmdwws}mmd%
wage premium of.arumaymfsum mors than double what those
wim-wmaqana.mwmwmmgmmmm

workers' lifetimes.
mﬁmmmﬁmwhm-mMQammg' .
with sustainabifity. i



Soctlon i

One or two of your three choson quaestions must be from this section.

4 {a} Explain why a rise in interest rates is used as a monetary policy tool fo controf
inflation in some countries but notin Singapore. [10)

{b) Discuss whether a rise in world interest rates would likely have a negative impact
on Singapore's domestic and exlernal economy. [15}

5  An economy with an ageing population can benefit from an accumulation of weailth as
older individuals save for consumption in old age and invest in their education. In
Singapore, the government has invested significantly in life-long initiatives to boost the
country's human capital potential and reduce unemployment.

Source: World Economic Forum
(a) Explain a possible demand-side cause for one type of unemployment and a possible

supply-side cause for another type of unemployment for an economy like Singapore.
[10]

(b) Discuss whether an ageing population makes it more difficult for an economy like
Singapore to achieve low unemployment. [15]

6 {(a} Explain how comparative advantage and technological improvements help to drive
globalisation. [10]

{b) Global competitiveness can be seen from an economy’s export competitiveness and
its atfractiveness as a foreign direct investment destination.

Discuss whether encouraging technological improvements and signing free trade

agreements would be effective in influencing an economy’s global competitiveness.

{19]
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2024 RVHS Preltm Essay Question 1

Rising pork prices have led to a decreass In the number of farmers raising ducks and geess.
Consequently, the prica of faather shutllecocks in China has incraased by 40%. Feather
shuttlecocks are typically made from 18 overlapping feathers, usually sourced from gease or
ducks.

(a) Explain what might cause price elasticity of demand and cross elasticity of demand to vary for
different products. {19}

(b) Discuss how rising pork prices could affect consumer expenditure on feather shyttiscocks and
its related good. [15]

Intro:

Price elasticity of demand (PED) measures the degree of responsiveness of quantity demanded

. % chi dernanded
of @ good to a change in its price, ceteris paribus. It is calculated by 3“;“;’;:;"::;;‘: .

Cross elasticity of demand {XED) measures the degree of responsiveness of demand for cne
good f0 a change in the price of another good, ceteris paribus. It is calculated by
% change In Quantity demanded of good X

% change in price of good ¥

Reguirement 1: What causes PED to differ:

Price elasticity of demand (PED) is always negative dus to the law of demand: a rise {fall} in price
leads to a fal] (rise) in quantity demanded. Therefore, only the absoluts value of PED matters.
The magnitude of PED varies based on factors like the availabllity of substitutes and the
Preportion of income spent on a good.

Gne factor that affects the magnitude of PED is the availability and closeness of substitutes, where
the greater the availability of su bstitues for a gaod and the closer the substitutes are to the good,
the bigger the magnitude of the good's PED. The number and closeness of substitutes in turn,
depend on how broadly we define the good. E.g., demand for ‘shuttlecock’ as a broad category is
more price inelastic than the demand for “feather shuttlecock’. Reason being, fewer substitutes
exist for shuttlecock in general whereas more substitutes exist for faather shuttlecock. If the price
of shuttlecack increases, consumers have fewer/no substitutes to swiich to. {n contrast, more
substittues exist for feather shuttlecock. Substitutes include synthetic shuttlecock, as well as
hybrid shuttlecock. Thus, if the price of feather shuttlecocks were to increase, consumers have
more substitutes to furn to, thereby making its demand less price inelastic {PEDreatner shutocock >
PED shuecock).

Reguirement 2: What causes XED between different pairs of gds to differ

Cross-price elasticity of demand (XED) varies depending on whether goods are substitutes .or
complements, and the closeness of their relationship. Substitutes have positive XED, while
complements have negative XED.

Far example, shutiecocks and badminton rackets are strong complements (i.e., XED > .1}, so an
increase in racket prices reduces demand for shuttlecocks more than proportionately. Meanwhile,
coffee and cream are weak complements, so an increase in price of coffee will lead fo a less than
Proportionate reduction in demand for cream.
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For substitules, feathar and synihotic shulllococks are cluso substilutes (XED>1) for casual
players DRCAURE both lypes can {ullil tholr neads with minimal differences in performance, so an
increase In fealhet shultlscock prices causes a more than proportionate rise in synthetic
shuttiecock domand. However, for professional players, they are not close substitutes (0<XED<1}
as feather shutllecocks provides better control, feel and sound, so the Increase in demand given

an increase in price of feather shuttlecocks is smailer,
Understanding these determinants helps explain variations in PED and XED across products.
Marks

Level | Knowledge, Application, Understanding, Analysis

L3 For an answer that explains how different determinants of PED and XEDwould | 8 - 10
affect the values of PED and XED.

L2 For an undeveloped answer that explains how different determinants of PED { 5 -7
and XED would affect the values of PED and XED.

OR

Eor a developed answer that only explains how that explains how different
determinants of PED OR XED would affect the values of PED OR XED.

L1 For an answer that may show little knowledge of PED and XED. Mere definition | 1 -4
of relevant concepls or mere listing of different determinants of PED and/or

XED, without looking at different products.

(b}

Consumer expenditure is calculaled by multiplying the price consumers pay by the equilibrium
quantity in the market. We can use price elasticity of demand (PED) to determine the effect of
rising pork prices on consumer expenditure for feather shuttlecocks, while cross elasticity of
demand (XED) helps assess the impact on related goods like synthetic shuttlecocks or badminton

rackets.

Rising pork prices have prompted farmers to shift from raising ducks and geese to pigs, as these
goods are in competitive supply, using similar resources. This reduces the supply of duck and
goose feathers, key inputs in feather shuttlecock production. The reduced supply of feathers
increases price of factor inputs, raising its cost of production, causing a fall in supply and thus a
leftward shift in the supply curve for feather shuttiecocks. This leads to higher prices and lower

quantity demanded.

Whether consumer expenditure increases or decreases depends on the PED of feather
shuttlecocks. Professional players, who require higher quality shuttlecocks with fewer substitutes,
likely exhibit PED<1, Thus, a price increase results in a less than propostionate decrease in
quantity demanded, leading to higher total consumer expenditure from OPOAQO to OPICQi.
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Figure 1: Fall in supply of feather shuttlecocks
Recreational badminton players, who play for leisure, likely do not have a strong preference for
feather shutilecocks and see synthetic or hybrid shuttlecocks as close substitutes, Thus, their
demand for feather shuttlecocks is relatively price elastic due to the greater availability of
substitutes. As shown by De in Figure 1, a price increase due to a supply fall leads to a more than
proportionate decrease in quantity demanded, resulting in a decline in total expenditure from
CPOAQO to OPeBQe.

R2; Effect on consumer expenditure for synthetic shuttlecocks 141

Since feather and synthetic shuttlecocks are substitules, cross elasticity of demand (XED)
determines the effect on consumer expenditure for synthetic shuttiecocks. If they are weak
s'ubstituies, XED is posttive but small. A price increase in feather shuttlecocks leads to a small

rise in demand for synthetic shuttlecocks, resulting in a modest increase in price and quantity,
and a small rise in consumer expenditure (0PCAQO to OP1BQ1).

_ff they are strong substitutes, especially for recreational players, XED is positive and large. A price

inCrease in feather shuttiecocks significantly boosts demand for synthetic ones, leading to a larger
rise in price, quantity, and consumer expenditure (OPOAQO to OP2CQ2).
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Evaluation:

The analysis assumes cotoris prribus, | lowaver, fnclors ika he growing preference for synthetic
shutflecocks and the Badminton Woild Fedoration's approval of \helr use In Inlernational events
MAY CAUSE profassional playors o switch, significanlly roducing expenditure on feather
shuttlecocks and inereasing it for synthatic ones.

Additionalty, the durabiiity of badminton rackets, a complement to feather shuttlecocks, means
that consumer expenditure on them may not fall significantly, despite their complemantarity.

Overall, consumer expenditure on feather shuttiecocks will tikely fall, synthetic shuttiecocks will
rise, and badminton racket expenditure will remain relatively stable due to its durabillity.

LORMS
Level Description Marks

L3 To enter L3, candidates are expected to discuss effect on consumer | 8-10
expenditure  for both  feather  shuitlecocks and  synthetic
shuttlecocks/badminton rackets, using @ range of elasticity concepts. A
demand and supply diagram would be a useful tool of analysis.

L2 An underdeveloped explanation of effect on consumer expenditure for both | 5-7
feather shuttlecocks and synthetic shuttiecocks/badminton rackets, with
fimited use of elasticity concepls,

L1 For an answer that shows some knowledge but does not indicate that the | 14
meaning of the question has been properly grasped,

Basic emrors of theory or an inadequate development of analysis may be
evident.

Where the answer is mostly irrelevant and only contains a few valid points

made incidentally in an irrelevant context.

[TE3 | Analylically weikexplained judgement about the effect on consumer| 4-5
expenditure  for  both  feather shutlecocks and  synthetic
shuttlecocks/badminton rackets, pius an overall summative conclusion.

OR

a well-explained judgment on feather shuttlecocks and an evaluative
statement about the other related good, plus a summative conclusion

E2 2-3
A well-explained judgment about effect on consumer expenditure on {eather
shuttlecocks OR synthetic shuttiecocks/badminton rackels.

OR

2 unsupported statements on effects on consumer expenditure for both
feather shuttlecocks and synthetic shuitlecocks/badminton rackets.

E1 1 unsupporied statement about effect on consumer expenditure for either 1
on feather shuttiecocks OR synthetic shuttlecocks/badminton rackets.
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EQ2

In the early 2020s, the gym industry became mora compelitive, with new gyms olfering advanced
facillties and diverse classes. However, a surge in COVID-18 cases led some people lo stay home
out of fear, while gym-goers had to observe safe distancing measures at the gym.

a) Explain why some firms in the gym industry may decide to remain in the market while others
might choose to shut down due to Covid-18. 10}

b) Discuss the potential affects that consumers are fikely to experience due to the influx of
competition. [15]

Part {a)

R1: Explain why some gyms might choose to continue operations despite the the Covid-19 safe
distancing measures.

Figure 1: Fall in profits due to the pandemic

Price, Cost, Revenue
A

- Cutput

Due to the Covid-19 restrictions, gyms may see a fall in demand for exercising at gyms due to the

restrictions and people are more cautious about exercising together. This will resuft in a decrease

in demand for gym services and membership fees and gyms may see a fall in their AR from ARy
to ARz as shown in Figure 1 above. Furthermore, there may also be a fall in income levels due to
to the decrease in economic output or some individuals may lose their jobs during this pandemic,
resulting in a further fall in demand. Diagrammatically, the gym may eam a supernormal profit of
area P1abC at first, however with the fall in AR, the gym may now be earning a subnormal profit

of CadeP,

In the short run, a firm incurs both fixed and variable costs. Fixed cost does not vary with output
produced and it is Incurred even when there is no production. Such costs are payable even when
a firm shuts down its operation, Examples of fixed costs for a gym include rental payments for the

shop space, payments for fitness machines and fire insurance, etc. Variable cost varies with
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output produced and it is nol incurred by a firm whon It shuts down or ceases operation. Examples

of suh costs hwcluda wages of gym Instructors and expenses for the operations like ulilities and
malutenance of the equipment dua to wear and lear.

In the shorl run, even though a gym is earning subnormal profit, but if its AR exceeds lis AVC
(AR>AVC), it means that it can cover its variable cost and some of its fixed cost, it will choosa lo

remain in operation.

This is because by continuing, the additional cost that will be incurred is AVC and not the fixed
cost because fixed cost does not vary with the level of output, but nonetheless need to be paid
even If it shuts down. At the same time, by continuing operation, the firm will still earn revenue
from the sale of its products (TR), which can cover all of its TVC, and part of its TFC.

R2; Explain why some gyms might choose to shut down

if a gym like Ritual is eaming subnormal profit but the gym’s revenue is unable to cover its variable
costs, (AR<AVC), it will not remain in the market and should shut down.

In the short run, if the firm is unable o earn encugh revenue to even cover the AVC, the firm will
shut down. Should a firm choose to shut down, it will have an operating loss that is equal to its
total fixed cost, which will be incurred even if oulput is zero.

However, if the firm chooses to remain operating, with a P<AVC, the firm will suffer even greater
losses of AVC + AFC. Hence, in order to minimise losses, the firm will choose to shut down
instead.

In the long run, the firm must at least make normal profit, i.e. AR=AC, to remain in the industry, if
the demand fails to recover and the firm continues to make subnormat profits, then it will have to
exit the industry as it is better off redeploying its resources to other industries where it might be
able to at least earn a normal profit.

Knowledge, Application/ Understanding and Analysis |
L3 Thorough knowledge of the facts and theory with an excellent ability o | 8-10
explain in a precise, logical and reasoned manner. Hlustrations and
examples are evidence of the ability to recognise the principles of the
question, application to relevant cusrent situations, and appropriateness for
the question.

2 Answer is relevant to the question, but the theory may be incompletely | 5-7
explained. Evidence of an ability to identify facts, at graphs (where
appropriate) and applying theory to new situations.

L1 Answer shows some knowledge but does not indicate that the meaning of | 1-4
the question has been properly grasped. Basic emors of theory or an
inadequate development of analysis may be evident.

Part (b)
R1: Positive effects experienced by consumers with the influx of competition

Before the influx of competition, the existing gym companies had relatively grealer market power,
allowing them to set higher prices. Each compeny faced a relafively high demand curve, which
was also price inelastic due to the lack of close substitutes. As a result, under the profit-
maximizing condition where marginat revenue equals marginal cost (MR=MC), these companies

tended to set higher prices.
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However, with the influx of competition, the existing gym companies will experience a decrease
in demand. Also, the demand for their services becomes more price elastic. As a result, an
existing gym company will now produce less and charge a lower price.

The influx of competition not only pressures existing gym companies to lower prices but also
expands the variety of services available fo consumers. New entrants often differentiate
themselves by offering unigue amenities and experiences, This increased diversity in services
enhances the overall weifare for consumers, giving them more options to choose from based on
thelr preferences and neads.

R2: Negative effects experienced by consumers with the influx of competition

Before the increase in competition, each gym company produced a relatively larger share of the
industry's output, allowing them to operate at a larger scale and benefit from significant internal
ecenomies of scale (IEOS). IEQS refer to cost savings that occur when a firm increases its output,
For exampie, larger gyms often have a bargaining advantage and receive preferential treatment
from suppliers. This bulk buying enables them to obtain goods at lower costs and on better terms,
which in turn reduces thelr unit costs.

With the influx of competition, each gym company now produces a smaller output and Is fikely to
experience less extensive intemal economies of scale (IEOS), leading to higher average and
marginal costs. Consequently, consumers face higher prices and a lower leve! of output.

Furthermore, with the rise in average cost due to the influx of competition, the superomal profits
previously enjoyed by an existing gym company. These supernormal profits are typically used to
fund research and development (R&D) activities and they are often costly and require substantial
funding. As aresult, with reduced profits, these companies now have less ability to jnvest in R&D
and drive product innovation. in the long run, the reduced investment in product innovation could
lead to a decrease in the variety and quality of services available to consumers compared to what
they might have experienced in a less competitive indusiry.

Summative conclusion

While increased competition in the gym industry offers substantial benefiis to consumers,
including tower prices, better service quality, and greater variety, these benefits can be fempered
by market conditions and the financial health of the gyms. The ability of gyms to maintalin high
service standards and continue innovaling may be compromised by the financlal pressures of a
highly competitive market. Thus, while Gaonsumers may enjoy immediate advantages, the long-
term sustainability of these benefits depends on the equilibrium between competition and the

financial viability of the gyms,

Knowledge, Application/ Understanding and Analysis

L3 | Thorough knowledge of the facts and theory with an excellent ability to explzinina | 8-10
precise, logical and reasoned manner. Illustrations and examples are evidence of
the ability to recognise the principles of the question, application to relevant current
situations, and appropriateness for the question.

L2 | Answeris relevant to the question, but the theory may be incompletely explained. | 57
Evidence of an ability to identify facts, at graphs {where appropriate) and appiying
theory to new situations.

L1 | Answer shows some knowiedge but does not indicate that the meaning of the | 14
L question has been properly grasped. Bask: erors of theory or an inadequate

development of analysis may be evident.
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Superiitial evaiiaiive stalement(s) WRHOUT supporting analysis and elaboration.

i S SerTHia Shalyeis 10 evalualE coniompor jssuies, perspeciives and | 5
mmmwwmmmmmmm;m
yelevancs, synihesises aconomic arguiments 1o arrive ni well-reasoned judjements
' rd diecislons.
Mammntmmmmmmmmmmmmmmm 34
expiain the judgement er base it on analysis.
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EQ3

Nordic natlons such as Denmark, Finland, Norway and Sweden offer access fo higher
educat:on for free. Singapore chooses to lower the costs of higher education through
subsldies.

(a) Explain two reasons why governments get involved In the education sector to achleve the
objective of economic efficiency. [1 6]

{b) A 2022 research study by the Nationai University of Singapore (NUS) described the wage
premium of a university degree as substantial, more than double what those with secondary
and lower education eam. This eamings gap increases over the workers' lifetimes.

Discuss whether the Singapore government shouid continue to subsidise higher education In
view of the need to balance the achievement of economic efficiency with sustalnability, [1 5]

{a} Explain two reasons why govemnments get involved in the education sector to achieve the
objective of economic efficiency. [10]

Introduction:
Governments intervene in the market for education to achieve the microeconomic objective of

efficiency especially allocative efficiency. This is because the unregulated free markel fails to atipcate
resources which maximises societal welfare due to two primary reasons: positive externalilies and
imperfect information.

Main;

R1: positive externalities in the market for education

Positive exlernalities are beneficial side eflecis of production or consumption on persons other than
the consumers and the producers themselves. These third parties do not make payment {o enjoy the
extemnal benefits. In the context of education, consumers only consider the marginal private benefit
(MPB) of an additional unit of education in terms of their higher caming palential in the future, Yat,
third parties such as co-workers enjoy marginal extemal benafit (MEB) such as guidance lrom those
who consumed more education and this could improvo the formers’ workplace productivity and
positively impact their wages,

Since marginal social benefit (MSB)=MPB+MEB, the prasonce of positive externalilies causes MSB
lo exceed MPB. Assuming no negative exiemalities, then marginal social cost (MSC) = marginal
private cost (MPC), The MPC refers to the cost of providing an additional unit of education Incurred by
the education providers such as hiring of teachers, facilities and materials. With reference to Figura 1,
the sociaily optimal level of output is at Q,, whers MSB=MSC and societal welfare is maximised,
However, consumers and producers only consider their own private benefits and costs and disregard
the benefil to extenal parties, hence the free market output is Qn where MPB=MPC, Since Qn<Q,,
the under-consumption/production of education and resultant aliocative inefficiency Is reflected in the
deadweight loss to society shown by area ABC.
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Prics/Coat/Denelt
I A MPC = 85 2 MBC
C
PN 58 = MPB + MEB
' MPB = DD
0 Qn @ GuaniRy of Education

Figure 1: Under-consumption/production due to positive externalities

R2: information failure in the market for education
Consumers might also under-consume education due to information failure or imperfect

information. Due to ignorance, individuals may not accurately estimate the longer-term
marginal private benefits of consuming an addition unit of education such as future job
prospects and eaming potential. As such, they underestimate the privale benefits of
consuming education, causing the misperceived MPB to be lower than the actual MPB

(or MSB) as seen in Figure 2.

Price/Cost/Benefit
F

MPC= MSC

MPBactm = M5B

MPBmisperceived

.

]

'

I

]

]
0 S >

Qn  Cs Quanlity of education

Figure 2: Under-consumption due to imperfect informatien

The market output is Qm, given by the intersection of MPBmisperceives and MPC, whereas
the socially optimat level of output is Qs, where MSB=MSC. Since Qm<Qs, there is under-
consumption of education due to imperfect information. The deadweight loss due to
under-consumption is shown by area ABC and this allocative inefficiency results in market
failure for which govemments might intervene in the market for education.

LORM

Knowledge, Applicaﬁoni Understanding and Analysis

(3 | Thorough knowledge of the facts and theory with an excellent ability to explain | 8-10
in a precise, logical and reasoned manner the 2 most appropriate sources of

market failure. [lustrations and examples are evidence of the ability to
recognise and apply to relevant context.
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L2 | Answer is relevant (o g quastion, but the theory of The 2 sourcas of market
faiture may be lncompiaiaty axplainad. Evidencs of an abilily fo ldentfy facts, al

diagrammatic enalysis and apn ing theory to relevant contax,

Answer shows some knowledge of market failure but does not indicate that the

meaning of the question has been properly grasped. Basic emors of theory or

- en inadequate development of analysis may be evident,

L1

®)
Introduction:

Similar fo the analysis seen in part (@}, there is under-allocation of resources in the market for higher
education in Singapore (Sg) due fo positive externalities and imperfect information. However, the
extent of market failure in higher education differs from that in basic education and this calis for a re-
examination how and how much the Sg govemment should intervene.

Main:
R1: The Sg government should continue fo subsidise higher education (io achieve AE)

To correct the under-consumptionfproduction and achieve greater economic efiiciency, the Sg
govemment provides subsidies to the producers of higher education such as the universities. This
reduces the cost of production for the universities and increases the supply of higher education. With
reference fo Figure 3, when the amount of subsidies provided Is equivalent to the value of the MEB,
the MPC will be lowered to MPC + subsidy. The new market output occurs af Q' {where MPB = MPC
+ subsidy) now coincides with the socially optimal level of output Q,. Hence, subsidies should continue
to be given as the lower fees make higher education more affordable and the increase in consumption
from Qm to Qs helps to correct the under-aflocation of resources, eliminate the deadweight loss and
achieve allocative efficiency.,

However, it is difficult for the Sg government to accurately determine the optimal amount of subsidies
due to the difficulty in quantifying the MEB derived from the consumption of education by the s0Ciety.
Any over- or under-estimation of MEB will still result in over- or under-consumption of higher education
and allocative efficiency is still not achieved. In worst case scenario of govemnment fallure, this might
lead to substantial wastages of resources leading to an even greater weifare loss than without
govemment intervention.

Price/CostBeneft
p MPC = 55 = MSC

N
é
\ MSE » MPB + MEB

/ PE =DD

) Qs G=Car Quaniity of Higher Education

MPC + subsidy

Figure 3: Subsidies in a market with positive externalities
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R2: The Sg govemment should reduce the subsidies 1o higher education (to achiave sustainabilily)

subsidise higher education by the Sg government {0 Improve e{ﬁdency could mean a
Sgglinou;n?‘ lt?arms of ﬂsc:g sustalnabllity. Fiscal sustainability refers to the ability of a government lo
manage Its expenditures and revenues over the long term such that future generallons are not
purdened with excessive borrowings and unsustainable debt. To continue with go_vammgnt subsidios
in higher education would incur opportunity costs in other areas such as the increasing need for
nealthcare and infrastruciure fachities in preparation to meet the needs of a rapidly ageing population.
Such govemment expanditures can only be fiscally sustainable if they can be financed through an
increase in revenues from taxation such as the Goods and Services Tax (GST), otherwise, the
government fiscal position will worsen or even run into budget deficits.

However, amy reduction in subsidies 10 higher education will have a negative impact on foreign direct
investment (FD). In a siall, resource-scarce economy, foreign firms do not target the domastic markel.
Instead, they use Sg asabase {o build capacily to serve customers in larger overseas markets which
require more high-skiled workers, This involves specialised and high-skilled roles that reguire
advanced expertise in sectors including investmant banking, wealth management, data science, cyber
security, artificial intefiigence, and professional services such as consulling and law. Hence, reducing
subsidies in higher education resuits in a tatent dJeficit that deters FDI and this in tum reduces AD and
real NY by a multiple which resulls in lower actual EG. In addition, potential EG is also compromised
with a decrease in the quality of human capital and productive capacity. Teken together, all these have
an adverse impact on the fiscal sustainability since govemment revenues e.g. in aither persongl or
corporate income taxes will be lower.

LORM

Knowledge, Application/ Understanding and Analysis
13 | Tharough knowledge of the facts and theory with an exceflent ability to explain | 810
in a precise, logical and reasoned manner the reasons for and against
continuing subsidies. llustrations and examples are evidence of the ability to
recognise and apply to the context of higher education, efficlency and
sustainability,

12 | Answer is relevant to the question, but the reasons for and against continuing | 57
subsidies may be incompletely expiained. Evidence of an ability 1o identify facts,
at diagrammatic analysis and applying theory to refevant context,

L1 | Answer shows some knowledge of subsldies in correcting market failure but | 14
does not indicate that the meaning of the question has been properly grasped.
Basic errors of theary or an inadequate development of analysis may be evident.

€3 | Builds on appropriate analysis to evaluate contemparary issues, perspeclives 5
and policy choices, that recognises unstated assumptions and evaluates their
relevance, synthesises economic arguments to amive at wek-reasoned
judgements and decisions.

£2 | Some attempt at evaluation or a conclusion that answers the question butdoes | 34
not exptain the judgement or base it on analysis.

E1 | Superficial evaluative statement(s) without supporting analysis and eiaboration. | 1-2
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EQ4

(a) Explain why a rise In Interest ratos s usocdas a monetary policy foollo control Inflation
in some countries but not In Singapore. [10}

{b) Discuss whether a Hse In world interest rates would likely have a negative Impact on
Stngapore’s domestic and external econcmy, [15]

Suggested answer part (a)

Introduction:

* The nature and size of an economy determines the appropriateness of a rise in interest rates
8s & monetary policy tool fo contro! infiation.

Body:

R1: Why a rise in interest rates is used to controi Inflation in some countries

» Central banks that increase interest rafes as a monetary policy tool to control inflation tend to
be economies with a relatively large domestic demand such as the USA.

* T interest rates increase the cost of borrowing, discouraging the consumption of big-ticket
interest-sensitive item such as cars. A higher interest rate increases the reward to savings.
This raises the opportunity cost of consumption and encourages saving, Consumption
expendifure (C) falls.

s P interest rates discourage firms from borrowing. And if the rate of interest exceeds the
expected rate of return on investment, this means that previously viable projects become
unviable {eading to a fall in investment expenditure (1),

*+ FallinCandl- | AD>JLGPL

GhL

Py

Py froe

0 Y Ye=Yi=Y,  Reainy
Figure 1

R2: Why interest rates are not used to controf inflation in Singapore

[High degree of apenness to capital flows]

* Singapore’s status as a global financial centre and openness to capital flows means she is
unable fo effectively manipulate interest rates and is an interest rate taker. If Singapore were
to increase ifs interest rate relative fo glebal interest rates, this will attract how money from
abroad into Singapore - 1 domestic money supply and the supply of loanable funds -
4 interest rates, returning interest rates fo its initial leve!l, making it difficult for Singapore’s
central bank - the Monetary Authority of Singapore (MAS) to manage interest rates.

[Small domestic capital market, high proportion of FDI}




» Singapore's small domeslic capital

market means a large proporlion of invesiment
expenditure is accounted by foreign direct investments (FDI). Marginal efficiency of planned
investment {MEI) Is interest ineiastic.

FD!s have the option of either drawing from their past profits or borrow in their own foreign
home couniry where their company is headquartered and therefore are less reliant on
horrowing from Singapore’s banking institutions.

A rise in interest rates leads to a less than proportionate fafl in quantity of planned investment
and thus AD may not fall by the extent intended and thus not be able to control for inflation,

assuming Singapore's economy is operating on the intermediate range of the AS curve.

Conclusion:
« In economies with a large domestic demand, a rise in interest rates will influence the spending

decisions of households and therefore contral inflation.
+ Uniike most other countries, Singapore’s choice of the exchange rate to control for inflation is
predicated on her economy's small size and its high degree of openness to trade and capital
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flows.

Level | Descriptor Marks
For an answer that applies relevant economic concepts with a consistent link to |
context.

» Considerad why economies with large domestic demand ‘T to control for
L3 inflation B-10
s Considerad why Singapore's rejects the use of interest rates
= Excellent AD-AS analysis
well-referenced and well-labelied diagram.
For an answer that applies relevant economic concepts with some link to context.
« Some consideration why economies with large domestic demand 1ir to
control for inflation.
L2 = Some consideration why Singapore rejects the use of interest rates 5.7
« Diagram may not be well-labelled or well-referanced 1o.
OR
+ Wellexpiained one-sided answer
For an answer that shows some knowledge on the cheice of policy tools of different
L1 | centrat banks. 1-4

(b) Discuss whether a rise in world interest rates would likely have a negative impact on
Singapore’s domestic and external economy. [15]

From (a}, Singapore’s nature as a global financial centre open to capital flows lead her to be an
interest-rate taker. Hence, a rise in world interest rates will ultimately translate to a rise in interest
rates in Singapore. This has implications on the domestic economy through impacts on
consumption {C) and investment (I}; and the external economy through the impact on net exports

(X-M).



R1:impact on Singapore's domestic economy (C &1}

As explained in part (a), a rise in interest rates will lead to a fall in consumption and investment
expenditura,

Taken together, the rise in interest rates causes a fall in C and I, translating to a fali in AD. If the
economy is currently operating at fufl employment (Ye), the economy benefits in the form of a
lowered risk of demand-pull inflation. Referring to Figure 1, suppose the initial equilibrium is at Pq
and Yo. In this case, when AD falls from AD, to ADy, there will be an unplanned increase in
inventories at the original price Po. Firms will reduce production and hire less factors of production
such as labour. With more resources now available, firms will be able to get their resources at
lower unit cost, thereby translating to reduced inflationary pressures. As reflected in Figure 1, there
will be fall In general price level {GPL) from Poto Py

Generzal ff{ice Lavel
Po fpommmmmm el
Py proomm oD
Figure 1: Impact of increase In
interest rate on AD
g * Reat GDP
n Yoz ¥y =Y,

On the other hand, if the economy is below full employment, i.e. at the Keynesian range, a fall In
AD fram AD, to AD; will bring about a negative impact to the domestic economy due to the fafl in
real GDP from Yq te Y1. This will bring about increased cyclical unempioyment and tead to more
labour which is not used, Another negalive impact to the domestic economy is the opportunity cost
of the unused iabour that could have been tapped on o generale economic growth,

General F::ice Level AS

i y;
Pi=Py \ : i Figure 2: Impact of Increase In
{\AD‘ ! ; interest rate on AD
1 I ,
; ! '
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A fall In investment expenditure couid lead to 8 fall In the economy’s productive capacily. This
could lead lo lead negative implications in the future when AD picks up again and there Is not
enough spare capacity in the economy to absorb the inflationary pressure.

Cverall, as explained in (a), given that C and | takes up a relatively smaller proportion of
Singapore's GDP, the rise in world interest rates is likely to have a negligible and insignificant

impact on the domestic economy.

R2: impact on Singapore's extermnal economy (X-M)

When world interest rates increase, there may be a ‘window period’ where Singapore's interest rate
has not risen lo the same level yet, due to time lag. in this interim period, the rise in world interest
rates may positively affect Singapore’s net exports (X-M). Reason being, during this time where
Singapore's interest rate appears to be relatively fower than that of the world, hot money will flow out
of Singapore 1o the rest of the world. This translatestoa rise in supply of Singdoliar in the forex market,
causing the Singdollar to weaken. Consequently, exports (X) from Singapore will be cheaper in terms
of foreign currency while impors (M) into Singapore will be more expensive in Singdollars. Assuming
the Marshall-Lemer conditions holds {i.e., PEDx + PEDw > 1), Singapore may see a rise in net exports
(X-M) and positively impact the external economy.

However, such a situation will not last because as explained in (a), there will ultimately lead to an
equalisation of interest rates in Singapore with that of the world due to Singapore being an interest
rate taker. When that happens, hot money flows will revert back to the economy which will strengthen
1he value of the Singdoliar. (X-M) will fall, thereby translating to a fall in AD as explained abhove. If the
economy was initially operating at the Keynesian range where there is plenty of spare capacity as
seen in figure 2, a fall in aggregate demand will lead to a contraction of the economy and iead to
increased cyciical unemployment. The impact on the external economy would hence likely be

negative.

Additionally, a rise in interest rates in other countries would also fikely reduce their real GDP as in the
case for Singapare. With a lowering of real GOP, households are likely {o experience lower disposable
income. Given that import is a function of income, foreigners would be less able to purchase goods
and services from Singapore and this will lead te a fall in demand for exports and hence a fall in export
revenue. A fall in X will reduce AD and in tum reduce real GDP by a multipie via the reverse multiplier
effect. Given that X takes up a relatively larger proportion of Singapore's GDP, the falt in X will have
a larger negative impact on Singapore’s extemnal economy

Synthesis:

Whether a rise in world interest rates will likely have a negative Impact on the domestic and external
economy would depend on where the initial equilibrium is. it is also more likely for interest rates to
have a greater impact on the Singapore’s economy through its impact on exchange rates given
the nature of Singapore’s open and trade reliant economy.

Secondly, the extent of change and the duration of the rise in world interest rates was not specifiad.
A larger extent of change in interest rales may bring abaut a more significant impact cornpared fo
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& smaller change. This also depends on whether

to reinforce or counter-act the effects of the tise in interest rales,

other poficies have afso beon adopted In tandem
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ecghomy

Level { Descriptor Marks
For an answer that gives a detailed and analytic explanation that:
+ Considers the positive and negative impact on both the domestic and
external sconomy
L3 *  Excellent AD-AS analysis to analyse the impact of higher interest rates on | 8 - 10
the components of C, i and NX
»  Wellreferenced and well-labellad diagram
For an underdeveloped answer that attempts to explain, with gaps, on the likely
negative or positive impact on the domestic and external economy. Diagrammatic
reference, if relevant, is incomplete.
» Analysis for domestic economy will entait that of the impact on consumption and
investment expenditure
L2 » Analysis for external economy will entail that of the impact on export and import | 5- 7
expenditure
OR
For an answer that gives a detailed and analytic one-sided explanation on the likely
impact on the domestic or external economy.
For an answer that shows some knowledge on the impact of a rise in interest rates 1.2
L1 on the economy )
E3 Analytically well-reasoned judgement about the overall impact of a rise in world [ 5
interest rates on the domestic and external economy
E2 Some attempt at a judgement of the overall impact of rise in interest rates by | 3-4
considering factors that would have a bearing on the impact on the economy
E1 Unsupported statement about the overail impact of a rise in interest rates on the | 1-2
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8) Explain a possible
supply-side cause for anoth

110
An economy fike Singapore is likely to face two types of unemployment — cyclical and
structural.

demand-side cause for one type of unemployment and a possible
er type of unemployment for an economy like Singapore.

Redulile t1' L
Singapore is likely to suffer fro
(AD), As Singapore has 4 smelf domestic market, she is reliant on expors for growth. Any fall
in external demand would cause a fa1l in her export revenue (X) and since X compiises more
than 100% of her GDP, i will result in a significant fall in AD, ceteris paribus,

m eyclicai unemplo due to insufficient aggregate demand

As AD falls, firms face unplanned rise in inventories and will reduce production by hiring less
factors of production, including labour, thus paying out less factor income. Households who
receive less factor income will decrease Induced tonsumption on domestically produced
goods and services, leading to 2 further decrease in AD. This leads to further unplanned rise
n inventories, where firms reduce production again, thus reducing factor income and real NY.
This process continues until there is no more decrease in induced consumption. Hence, the
initial decrease in AD triggers a multiple decrease in real NY from Ys to Yy ais seen in Fig. 1
below. This fall in real output is accompanied by a fall in derived demand for labour, thus
causing a rise in cyclical (demand-deficient) unemployment, especially in export-related

sectors.

General f‘:‘rice Level AS
P b
[:] PR ¥ -t
N
P \ | A
o — ViV —e Real GDP
Fig. 1
"L.' BMe 2" : !4'* s-sitle 4! ] . . .‘:"' b ) _
recent years, Singapore has been facing structural unemployment due to the restructuring

In . 1 un ) g
of her econamy. This resiructuring of the economy occurs as part of the govemiment's efforts
o shift the ecoromy fowards productivity-driven growth, thus hastening skills obsolescence.
For example, &s Singapore undergoes rapid digital transformation in her move 1o become 2
smart nation, various industries have adopte innovative technologies to transform their work
processes. Firms In the hotel/ F&B industries, for instance, are experimenting with digial
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concierges and robot walters {o anhance productivity, As theso labour-saving technological

advgncements altow for the sams lovel of oulput lo be produced with fower workers, workers
are increasingly displaced by machinerias.

Workars in these jobs who are less proficient In handling the more advanced aquipment may
become unemployad, At the same time, these retrenched workers lack lhe necossary skills
that are in demand {(e.g. Alf data solutions) to take on new Jobs. Thus, structurat
unemployment resuits because of the mismatch of skills of the unempioyed and the existing
job vacancies.

Level | Description Marks

L3 [ To enter L3, candidales are expected to provide an accurate and | 8-10
developed explanation of;
* A possible demand-side cause for one type of unemployment
(eyclicalfstructural)
+ A possible supply-side cause for another type of
unemployment{cyciical/structural)
for an economy like Singapore
using a relevant tool of analysis such as AD-AS diagram

L2 | There should be an accurate but undeveloped explanation of: b-7

» A possible demand-side cause for one type of unemployment
{cyclical/structuraf)

* A possible supply-side cause for another type of
unemployment(cyclical/structural)
for an economy like Singapore

L1 + For an answer that shows some knowledge but does not| 1-4
indicate that the meaning of the question has been properly
grasped,

* Basic errors of theory or an inadequate development of analysis
may be evident.

¢ Where the answer is mostly irrelevant and only contains a few
valid points made incidentaily in an imelevant context.
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b} Discuss whather an ageing population makes it more difficult for an economy fike

Singapore to achleve low unemployment. [15]

An ageing popuiation, coupled with falling birth rates in Singapore, imply a fall in our working age
population. As the number of new entrants o the workforce cannot adequately replace those who
are retiring, the result is a shrinking resident labour force. This fall in labour supply relative i
demand for labour causes equilibrium wage fo rise in the labour market This is because firms
need to compete more intensely when hiring workers {e.g. offer higher wages), especially those
in labour-intensive seclors such as food services and retail. Alternatively, if firms need to
supplement their manpower count with foreign workers o tap on machines te maintain the same
levet of production, these add to costs in the short run too. Assume the rise in cost of production
exceeds any rise in productivity, unit cost of production increases. Referring to Figure 2, the
increase in unit cost of production causes a fall in short run aggregate supply (SRAS), which leads
SRAS; to shift upwards to SRAS,. Assuming no change In aggregate demand (AD}, general price
leve! {GPL) rises from P to P, while national income falls from Yoto Yi. As less goods and services
are being produced, this will reduce the derived demand for labour, leading to an increase in

cyclical unemployment.

General fﬂ'ce Level

e N\
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Fig. 2

Besides SRAS, the shrinking resident labour force also affects AD. Specifically, multi-national
corporations (MNCs) may be deterred from entering Singapore. Reason being, i is tougher to get
the necessary manpower so higher costs of hiring need to be incurred. This diminishes our
aftraciiveness as a foreign direct investment (FDI) destination and MNCs may tum fo regional
countries {e.g. Malaysia) with greater availabilty of labour! other resources, Reduced entry of
MNCs may transtate to reduction in investment {1}, since MNCs usuaily enter Singapore and set
up production plants. Failing which, AD falls. Referring to Figure 3, AD. shifis Jeft to ADy. As
national income falls by @ multiple from Ya to Yy, less goods and services are being produced,
Hence, firms hire fewer factor Inputs such as labour, leading to an increase in cyclical

unemployment.
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With an ageing population, economies like Singapore will also undertake policies to support | in
R&D and the adoption of new technology to increase productivity in order fo increase the
productive capacity of the country. Those lowly skilled elderly workers who have been displaced
by technology may not have the relevant skills to take up jobs in the new industries. Adaption of
new technology could have the unintended consequence of increasing structural unemployment.

Reauirement 2: Ageing population does not make it difficult to achieve low unemployment

As stated in the preamble, individuals have invested in education which means they are likely to
have taken up training to build up their skills. At the same time, the government have invested
significanlly in life-long initiatives to boost country's human capital potential like the Workfare
Skills Support Scheme, which encourages low wage Singaporean workers to attend training to
improve their skills. All these will help workers, including the older individuals, to increase their
skilis and raise their productivity. As such, all workers are less likely to remain structurally
unemployed for a long period of time and will have less difficulty taking on jobs in new industries
or will have picked up the skills needed to operale the new technologies in their area of work. This
reduces structural unemployment.

If the ageing population has accumulated wealth as mentioned in the question, these older
individuals have the means to spend on goods and services especially on healthcare services,
thus increasing (C). In addition, with the government investing significantly in life-long initiatives,
this will increase government expenditure {G). Together, the increase in C and G will lead to an
increase in AD from AD, to AD; in Figure 3, resulting in a multiple increase in national income via
the multiplier effect. With more goods and services being produced, this leads to an increase in
derived demand for labour, thus reducing cyclical unemployment.

Summative Conclusion

While it is possible that ageing population can make it difficult for an economy like
Singapore to achieve low unemployment, a lot also depends on the culture of the country
and the policies that the government adopts. If citizens are used to saving enough for old
age and are willing to engage in lifelong leaming, quality of labour need not fall with an
ageing population, especially with the government invaesting heavily in Initiatives to boost
human capital potential, If this is the case, ageing population will not make it difficult for
an economy to achieve low unemployment,
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Leve!l

Description

T Marks

To enter L3, candidates are expected fo

» Explain how an ageing population makes it difficult for an
economy like Singapore fo achieve low unemployment
(cyclical/structural)

+ Explain how an ageing population does not make it difficult to
achieve low unemployment (structural /cycfical)

810

| There should be an accurate but undeveloped explanation of:

+ Explain how an ageing population makes it difficult for an |
economy like Singapore to achieve low unemployment
{cyclicalfstructural)
Explain how an ageing population does not make it difficult for
an economy fike Singapore to achieve low unemployment
(structural /cyclical)

57

L1

. .

For an answer that shows some knowledge but does not
indicate thal the meaning of the question has been properly
grasped.

Basic erors of theory or an inadequate development of analysis
may be evident.

« Where the answer is mostly irrelevant and only contains a few
valid points made incidentally in an irelevant context.

14

T E3

' zamiyﬁ@&mwﬁmdmmm‘amemmm
mai@asitmuramtessdmworanmmnym g re 1o achiove low

 unempioyment, plus an everali summative
OR
A weli-explained evaiuation pointer and an unexplained dvaluate statement

| bn how an ageing population makes & mors o lass difficult for an economy |
I like Singapore to achieve low unemployment, plus a summative conclusion

A wel

Teroicinad judgment OR 2 Unsupporiall Skaterments o how & agein |
population makes it more or less difficult for an economy like Singapore 1o |

difficult for an economy #ko Singapore to achieve fow unemplo "
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2024 J2H2 Prelims EQS {Macro} - Answer for Othor JCs

{8} Explain how comparative ndvanta )
ge and techinological Improvemants hel fod
globalisation, [10) P P o drive
Global competitiveness can be seen from an economy’s export competltivenass and
its attractiveness as a forelgn direct Investment destination.

Discuss whether encouraging technological improvements and signing free trade
agreements would be effective in Influencing an economy’s global competitiveness,
[15)

Mark Scheme (a)

Knowlaedge, Application/ Understanding and Analysis
L3 | Developed expianation of how the exploitation of comparative advantage {CA} and 8-190
technological improvements drive globalisation. To enter L3, candidates should:

- Support their explanation with relevant economic analysis {e.g., PPC dlagram)
- consider all three aspects of globalisation i.e., trade, capital, labour.

L2 | Answer is relevant to the question, However, the explanation for RY and R2 is 5.7
undeveloped OR developed explanation for R or R2 only. Some ability af graphs.

L1 | Answer shows some knowledge but lacks economic analysis + limited coverage of 1-4
the three aspecls of globalisation.

Mark Scheme (b}

Knowledge, Application/ Understanding and Analysis

L3 | Developed discussion of how signing FTAs and encouraging tech improvements 810
influence an economy’s global competiliveness. (Optional to use e.g. from SG

context}
‘Developed' — Uses appropriate analysis to explain how the measure addresses the

2 aspecis of global competitiveness. This shauld be followed by limitations of each
measure.

L2 | Undeveioped discussion of how signing FTAs and encouraging tech improvements 5-7
works OR developed explanation for 1 measure only.

‘Undeveloped’ — Explanation lacks economic analysis.

L1 | Answer shows some knowiedge but does not show proper grasp of the question. 1-4
Basic errors of theory or an inadeguate development of analysis may be evident.

E3 | Builds on appropriate analysis to evaluate contemporary issues, perspectives & 5
policy choices, that recognizes unstated assumptions and evaluates their relevance,
synthesizes economic arguments to arrive at well-reasoned judgements & decisions.
[E.g. weighs the relative effectiveness of each measure/ provides policy
recommendation, suggests other complementary measures to improve global
competitiveness.)

E2 | Some attemnpt at evaluation or a condlusion that answers the question but does not 34
explain the judgement or base it on analysis.

E1_ | Superficial evaiuative statement(s) wio supporting analysis & elaboration. i-2
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Part {a)

INTRO

Define globalisation as the closer closer integration of economies and people of the workd

through the ease of movement of goods and services, capital and labour across borders.
Acknowledge that technological improvements and the exploitation of comparative advantage
are two key drivers of globalisation.

DEVT

Reguirement_1: How expioitation of comparative advantaqe drives globalisation

Highlight that countries engage In trade with each other because they hope to gain the benefils
that come with trading based on the theory of comparative advantage.

Explain what is theory of comparative advantage and how specialisation and trading based
on a country's comparative advantage can benefit economies by increasing the amount of
goods and services available for consumption.

Use the production possibilities curve to explain how two countries can gain if they trade with
each other.

Provide assumptions — countries use alil their available resources and how even if one country
has absolute advantage, there are still gains from trading.

Explain how a country with comparalive advantage in producing one of the good will have a
relatively gentler production possibilities curve and thus, she should specialise in production
of this good.

Explain that if countries specialise and then proceed to irade according the set terms of trade,
this will lead to both countries being able to enjoy higher consumption levels compared to

hefore trade.

Reguirement 2: How lechnological improvements drive globalisation

Explain how major technological improvements in transport (e.g.. the development of
container shipping and the proliferation of air travel) can lead to increased flows of trade,
{abour and capital.

E.g., with the advent of cheaper air travel and shipping charges, we see more countries
engage in trade with each other compared to before.

Besides improvements in transpori, technological improvements can also be seen in area of
communications {e.g., the rise of the Internet) which has been facilitated by increasing
digitalisation in many economic processes and activittes {e.g., the development of mobile
computing through devices like laptops and smart phones, and the rise of big data, cloud
computing and artificial inteiligence).

E.g., with the rise of the Intemel, we see more e-cotnmerce transactions now being
undertaken by more people.

Besides trade In goods and services, we also see the above technological improvements in
transport and communications transiate to more businesses taking place acrass borders, and
also more people being willing to take up employment opportunities across borders.

To attain the ‘Analytical’ level for this requirement, students would need to link the
technological improvements to increased flows of trade in goods and services, capital and

{abour,
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CONCLUSION

* Recognise that besides tachnological improvements and
exploftation of com f
advanlage, another key driver of globalisation is the development of multiialeral (e,gﬁa\;gg:!g
Trade Orga hisation) and bilateral (e.g., Free Trade Agreements FTAs) economic cooperation,
which enabled trade, investments and migration barriers to be reduced over time,

Part (b)
INTRO

» Highlight that the two measures cited in the question:
-  Encouraging technological Improvements
- Signing Free Trade Agreements (FT. As)

» will affect an economy’s export competitiveness {price and non-price) and also its ability to
attract foreign direct investment.

» Note that it is optional for students to provide examples on Singapore context for this question.

DEVT

Requirement 1: How encouraging technolo lgal improvements can affect global competitiveness

« Explain what ‘encouraging technological improvements’ entail. Spacifically, in the Singapore
context, when the government provides the Productivity and Solutions Grant (PSG) to
encourage firms to tap on technology, this may be one way to achieve this.

= Alternatively, the govemnment may choose to devote funds towards improving technology and
research & development in the country.

* Provide examples on how the above can lead to firms enjoying a consequent rise in
productivity. This may in tum lead to more price competitive exports.

« Alternatively, it may bring about the development of new and more innovative products, If so,
then it will fead to more competitive exports in the non-price aspect.

e In addition, explain how the above measures may also provide an investment-friendly
environment. This thereby serves to attract foreign muitinational corporations (MNCs) to enter
the domestic country to invest and set up plants.

i so, this also improves the country’s global competitiveness in this respect.
Provide real world examples to substantiate the above point.

= Qualify that despite the above positive impact on an economy’s global competitiveness, there
are limitations nonetheless.

« Examples of imitations Include the long time lag required for the above policies to materialise.
In addition, the success is not guaranteed and there may aiso be opportunity cost incurred
when the government chooses {o put her money info these uses.




Requirement 2; How signing of free trade agreements can affect global competitiveness

Note to markers:

Define free trade agreements (FTAs) as legally binding agreement between two or more
countries to reduce and efiminate barriers {o trade and facilitate the cross horder movement

of goods and services between the countries who signed it.

Explain what ‘signing FTAs' entail. Specifically, in the Singapore context, when the
government signs FTAs with anothsr country, this will bring about benefits to domestic firms
and investors.
Hightight that signing FTAs lead to and opening up of export markets and this enables
domestic firms to now export {o a wider consumer base.
Consequently, this translates lo increased scale of production and in tum brings about
economies of scale. If the lower average cost leads 1o lower prices of exports, this also helps

1o improve the price competitiveness of exports.
Alternatively, the presence of the FTAs may allow fims in the domestic country lo access

cheaper imports of raw materials.

Besides having a positive impact on export price competiliveness, sludents should highlight
that usually, FTAs cover more than trade.

As they may also allow for freer mobility of investment, there needs to be explicit link to how
this may in turn bring about improvement in global competitiveness as the domestic country
will be able to attract more foreign direct investment following the negotiation of the FTA.

Provide real world examples of the above.
Eiaborate on some possible limilations thal can result from the signing of FTAs.

Students can fink thel explanation for R1 or R2 to tha impact on AD and/ or SRAS,

When doing this, they must show In their diagrams how tha consequent rise In exports {X) or
investment () may lead to a rise in aggregate demand (AD) and in turn, a multiple rise in
nationai income {(NY).
Alternatively, If there Is a fali In cost of production brought about from having access to
cheaper Imports, this can be representad by a rise In short run aggregate supply {SRAS).
This in turn translates to fall in general price laval (GPL) and rise in national income (NY}).
The above diagrams are, however, optional. If students can provide a detalled vorbal
explanation with good link to global competitiveness, 1 is acceplable too.
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